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(m) (m) (kN/m) EBBf(m) (m) (kN/m) (m) (m) (kN/ ) (m) (m) (kN/m)
5 100kN/MZEBZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 733 93.50| =Lt [0.00 ~ 733 1.95 10.43 et 1.00] 500 ~ 10.75 93.50| =Lt | 5.00 ~ 10.75] 1.95 10.43
3 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 6.99 88.63| ZiLst [0.00 ~ 0.00| 1.67 8.93 et 1.00] 500 ~ 8.90 88.63| =Lyt | 500 ~ 8.90| 1.67 8.93
4 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 643 80.87| =4t [0.00 ~ 0.00| 1.57 8.41 et 1.00] 500 ~ 843 80.87| #hList | 500 ~ 843| 1.57 8.41
5 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 572 7152 #hlst 1 0.00 ~ 0.00| 1.58 8.46 et 1.00] 500 ~ 6.87 7152 #hlst | 500 ~ 6.87| 1.58 8.46
6 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00|0.00 ~ 6.27 78.80| Z#hklst 10.00 ~ 6.27| 1.79 9.58 et 1.00] 500 ~ 733 78.80| #hlét | 500 ~ 733 1.79 9.58
100kN/MZEEZ 5 ~ IMEERD ~ 100kN/MZEBZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fhest ~ Fheist ~
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